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Attached you will find the Balance of Payments for 2005. Compute the following balances:

a. The Trade balance, the Service balance, Net Exports, and Current Account Balance

b. The Capital Account balance and the Official Reserve Transactions

c. The Balance of Payments

Remember 

TB = XM - MM 

SB = (XS + Income Receipts) – (MS + Income Payments)
NX = TB + SB = (XM + XS + Income Receipts) – (MM + MS + Income Payments)

CA = TB + SB + UT

KA = CIP – COP + Statistical Discrepancy
ORT = CIO– COO + Special Drawing Rights (SDR)

BP = CA + KA

ORS = COO– CIO  - Special Drawing Rights (SDR)

